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Fluency 1 

Circle the word that completes each stem sentence. 

The lorry is  taller / shorter  than the van. 

The sketchbook is  longer / shorter  than the guillotine. 

 

Fluency 2 

Write the missing words to complete the stem sentences. 
 

 

The height of the minibus is _______________ _______________ 

the height of the camper van. 

The height of the easel is _______________ _______________ the 
height of the sketching table. 

 

Fluency 3 

Complete the stem sentences. 

The length of the taxi is _____m. 

The length of the car is _____m. 

_____m is _______________ _______________ _____m. 

The taxi is _______________ _______________ the car. 

Fluency 4 

Complete the stem sentences. 

The height of the weaving loom is _____cm. 

The height of the sewing machine is _____cm. 

_____cm is _______________ _______________ _____cm. 

The weaving loom is _______________ _______________ the 
sewing machine. 

 

Fluency 5 

Write the symbol to compare the lengths in metres. 

 

 

 

 

Write the symbol to compare the lengths in centimetres. 

 
 

taller than shorter than longer than equal to 

 8m 14m  62m 62m 

 70m 75m  49m 38m 

 15cm 42cm  97cm 94cm 

 11cm 10cm  3cm 30cm 
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Fluency 6 

Write digits to complete the comparison statements with 
metres. 

 

 

 
 

 

Write digits to complete the comparison statements with 
centimetres. 

 

 

 

> 28m 2__m < 61m __0m 

> 6m __m < __3m 87m 

> 86cm __9cm < 53cm 5__cm 

= 7__cm 71cm > __5cm 66cm 

Fluency 6 

Write digits to complete the comparison statements with 
metres. 

 

 

 
 

 

Write digits to complete the comparison statements with 
centimetres. 

 

 

 

> 28m 2__m < 61m __0m 

> 6m __m < __3m 87m 

> 86cm __9cm < 53cm 5__cm 

= 7__cm 71cm > __5cm 66cm 
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